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ex_gcd(a, b):

if b 0: return 1, 0, a

else:
X, Yy, gcd = ex_gcd(b, a % b)
X, ¥y =y, (x - (a b) * y)
return x, y, gcd

>, d, _ = ex_gcd((p-1) * (q - 1), e)
print(d)
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[2,3,7,5,13,12,9,1,8,10,4,11,6]

s.replace( 5 ) .replace( , ") .split()
t =[]
for i in (13):
st = s[order[i]-1].find(start[i])
t.append(s[order[i]-1][st:] s[order[i]-1][:st])
ans []
for j in ( (t[el)):
ans.append('")
for i in ( (t)):
ans[j] t[i][]j].1lower()

print(*ans)
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import base64

def encodel(ans):
s
for i in ans:
X (1) 36
25
(x)

return s

encode2(ans):

s

for i in ans:
(1) 36
36
(x)

return s

encode3(ans):

return base64.b32encode(ans)

0

if encode3(encode2(encodel(flag)))
print

else:
print



import base64
def decodel(ans):
s
for i in ans:
X (1)
36
(x)

return s

def decode2(ans):
s
for i in ans:
X i 36
X X 36
(x)

return s

def decode3(ans):
return base64.b32decode(ans)

final
print(decodel(decode2(decode3(final))))
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def ex_gcd(a, b):

if b 9:
return 1, 0, a

else:
k a b
remainder b
x1, y1, gcd ex_gcd(b, remainder)
X, Y yl, x1 k yl

return x, y, gcd

def get inverse(a, p):
X, ¥, gcd = ex_ged(a, p)
return (x p) p

pX
py

dy = qy - py
dx = gx - px
if dy * dx < 0:
flag
dy, dx (dy), (dx)
_, _, d = ex_gcd(dx, dy)
dx, dy dx d, dy d
dx_inverse, _, _ = ex_gcd(dx, p)
k dy * dx_inverse
if flag:
k= (-k+p)%p
rx (k 2 - px - gx)
ry = (k * (px - rx) - py)
return [rx, ry]

def mul_k(P, k):
if k 1:

return P
mid k 2
midP = mul_k(P, mid)
R = ecc_add(midP, midP)
R -

R = ecc_add(R, P)
return R

p, a, b 15424654874903, 16546484, 4548674875
G [6478678675,5636379357093 ]

i 546768

print( (mul_k(G, k)))
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